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Each question carries equal marks.

Perform any one experiment/study and furnish it report 

fdlh ,d ç;kxs @v/;;u dks lEiUu dja s ,oa bldk i.w kZ çfrons u

r;S kj djAa s

of examinees.

ç;kxs  dk vkoVa u ijh{kkFkh@Z ijh{kkfFk;ka s ds legw  dks YkkVW jh ds \

vk/kkj ij fd;k tk,xkA

Necessary calculations, drawings and other works shall be 

done individually.

vko';d x.kuk] vkj[s ku ,oa vU; dk;Z O;fDrxr :i ls fd;s

tk;xs As

a) Practical exercise book                    

  oxZ ea s fd;s x, i;z kxs ka s dh ifq Lrdk 

   ifj{k.k dh fof/k ,oa fu"d"kZ 

c) Viva - voce

   ekfS [kd ç'u

1.

2.

3.

4.

Full Marks   : 35

Pass Marks : 14

Explain different switching techniques.5. 
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Connect two machines to hub and ping one

machine from the other. Now change the subnet

mask of the machines and see the effects.

log in to the server.

connect the hubs to switch. Connect a server to the

switch an telnet  to the server from the machines.

Explain the steps involved in computing the

check sum on for a given message frame and hence 

find the complete frame bit pattern for the data 

given below:

Data polynomial D(x) =1101011011

4
Generator polynomial G(x) = X+X+1
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